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A9819 30 x 2,138 = | |

7911 30 x 2,138 = (10 x 3)x 2,138
3x10uaz 10x3 = 10 x(3 x 2,138)

= 10 x 6,414
= 64,140




A79819 30 x 2,138 = [_]

2511 30 x 2,138 = (10 x 3)x 2,138
3x10uwaz10x3 = 10 x(3 x2,138)
10 x 6,414
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2,138 TnawAsg 2,000
30 x 2,000 = 60,000
fus0x2138
A25LNaLALY 60,000
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1) 30,910 x 50 = [ ]

79711 30,910 X 50 = 30 910 x (5 x 10)

5x 10 uag 10 x 5 (30 010 x 5))( 10

- 154,550 x 10
1545500
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2) 50 x 30,910 = | |
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25911 50 x 30,910 = (10 x 5)x 30,910

5x10uaz 10x5 = 10 x(5 x 30,910)

= 10 x 154550
= 1545500




fau 30,910 x 50 = 1,545,500

waz 50 x 30,910 = 1,545,500

azladn 30,910 x 50 = 50 x 30,910
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3) 21,513 x 20 = [ |
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2691 21,513 x 20 = 21,513 x (2 x 10)

1
= (21,513 x 2)x 10
= 43,026 x 10
= 430260
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4) 40 x 73,013 = [ |

9911 40 % 73,013 = (10 x 4)x 73,013
1 1
= 10 x (4 x 73,013)

= 10 x 292052
= 2920520
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1) 1,205 x 20 = Z2) 40 x 3,511 = -
1,205 x 20 = 40 x 3,511 =

3) 41,027 x 60 =
41,027 x 60 = .
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3) 41,027 x 60 = | |
41,027 x 60 =
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2) 40 x 3,511 = | |

40 x 3,511 = (10 x4)x 3,511
2
= 10 x(4 x3,511)
= 10x14044
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3) 41,027 x 60 = | |

- (41037 x 6) x 10
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